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Week 11 Worksheet - last worksheet on Taylor Polynomial

Instructions. Follow the instructions of your TA and do the following problems. You are not
expected to finish all the problems. So take your time! :)

Today’s topic: Taylor Polynomial - Multiplication, differentiation, integration.

1. Compute T3 (sinz cos z)
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2. Compute Ty [e~*sin (2t)].
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3. Compute the Taylor Series of arctan (2z) .
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4. (from 2018final) Find the Taylor Polynomial of degree 14 at z = 0 (i.e. find T4) of the

function f(x)=%§. " I—XE
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5. (a) Find the second degree Taylor polynomial for the function €’
(b) Use it to give an estimate for the integral
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(c) Give an upper bound of this approximation for fol e®’
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6. Compute the Taylor Series of the follovﬂng functions: a
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